
Monday Tuesday Wednesday Thursday Friday 
3200 ÷ 8 = 
 
32 ÷ 8 = 
 
320 ÷ 8 = 
 
Calculate 3.2 x 100 = 
 
  
Calculate 320 ÷1000 = 
 
 
product of 3000 and 8 
 
 
What is the value of the 
2 in this number? 
426,583 
 
 
Round 59,472 to the 
nearest thousand. 
 
 
 
Write  in Numerals  
MCMLXXX 
      

4800 ÷ 8 = 
 
48 ÷ 8 = 
 
480 ÷ 8 = 
  
Calculate 480 x 10 = 
 
 
Calculate 48 ÷10 = 
 
 
product of 500 and 80 
 
 
What is the value of the 
6 in this number?        
426,583 
 
 

Round 59,472 to the 
nearest ten. 
 
 
 

 
Write in Numerals  
MCMLXXXIV 
 

9600 ÷ 8 = 
 
96 ÷ 8 = 
 
960 ÷ 8 = 
  
Calculate 90.6 x 10 = 
 
 
Calculate 90.6 ÷10 = 
 
 
product of 22 and 8 
 
 
What is the value of the 
4 in this number?        
426,583 
 
 

Round 59,472 to the 
nearest hundred. 
 

 
 
 
Write in Numerals  
MCMLIX 
 

7200 ÷ 8 = 
 
72 ÷ 8 = 
 
720 ÷ 8 = 
  
Calculate 7.2 x 100 = 
 
 
Calculate 7200 ÷100 = 
 
 
product of 15 and 8 
 
 
What is the value of the 
5 in this number?        
426,583 
 
 

Round 59,472 to the 
nearest ten thousand. 
 
 
 

 
Write in  Numerals 
MDCCCLV 
 

5600 ÷ 8 = 
 
56 ÷ 8 = 
 
560 ÷ 8 = 
  
Calculate 50.6 x 100 = 
 
 
Calculate 506 ÷1000 = 
 
 
product of 200 and 8 
 
 
What is the value of the 
8 in this number?        
426,583 
 
 

Round 509,472 to the 
nearest hundred 
thousand. 
 
 
Write in  Numerals 
MDCCCXC 
 
 



Calculate the area 
                  3cm 
 

  6cm 
             
 
 
Calculate half of 48 

 
 
Write 0.5 as a fraction 
 
 
 
2/3 of 15 =  

 
 
7/8 + 5/8 = 

 

 

3/8 of 24 = 

 
 
 
 

Calculate the area 
                  8cm 
            
    5cm            
 

 

 

Calculate a quarter of 36 

 
 
Write 1/4 as a decimal 
 
 
 
4/5 of 60 =  

 
 
2/7 + 4/7 = 
 
 
 
5/8 of 88 = 
 

Calculate the area 
                          3cm 

             
       7cm        
 

 

 

Calculate half of 96 

 
 
Write 0.75 as a fraction 
 
 
 
7/9  of 99 = 

 
 
3/8 + 4/8 = 
 
 
 
7/8 of 32 = 
 

Calculate the area 
              12cm 
               
11cm 
 

 

 

Calculate a quarter of 48 

 
 
Write 0.1 as a fraction 
 
 
 
5/6 of 54 =  

 
 
2/5 + 4/5 = 
 
 
 
5/7 of 56 = 
 

Calculate the area 
             12cm 
             

9cm 
               
 

 

Calculate half of 58 

 
 
Write 2/10 as a decimal 
 
 
 
3/7 of 49 = 
 
 
1/3 +2/3 = 
 
 
 
3/7 of 63 = 
 
  

Total            /15 Total            /15 Total            /15 Total            /15 Total            /15 
 


